


TON| SINVLAIAENDOD BNIgTINg "M'd + 102 @

zSEil—d # NOLVAISIOSH 40 FAvDLIUN3ED SNOISIASY B}
SYIINIONT TYNOISSAJONd 40 OuvDa SWGL SUVII0 TINV HOOG AH 31va [ONY | | <l . 7_
B —~1{n Lo
‘egeCia y : 3 o
S65E€ 14 ©OPIOA OEZ x0@ ‘O \SM@. ATGNISSY ¥0 Lavd N 5 ~ . ¥ S
"ONi 'SINVLIINSNOD ONKTINGE 00O TVIONIANWOD 1331S =) e < _vW 2_
- e
CZivOLf *3'd SVGEL WAOY-WD wldis]| m i
Id "IPwyss ‘3 uopultl :Ag peJpdedg EjueLLnsog HONG0ES - RN Z 515 &
=
O
-
L9
[TT]
_ %]
TS T T AT TR T T T 2
I%%%x@ﬁﬁ%m% L
[ ;
Y el e Sl e p e p Y STy S YN i ™ e a
x o
>8
mw
©
=
F j W87°1 IYA
[ 59| —] g€ - = =
z
& .
m * —fa— /00
E— O
S — & ]
[
=
[T}
O
>
O
+ =g
o Ul
Q|
:wo.o - ll_...“_..- m
Mﬂ: @
1 Fant PN
\ I ¥
& T £91 |.l|_ i
- K g g
&« o z
S . ® =
W571 s in o
& ~ et
M — = N 3
E‘I’ :N0.0 m n ©
o Q|
'red [ 5]
* : ®
= oc
3 3
I S : a8
= & = SBOQ o | GlE
O = Q2
o x _
Q - # 23 iy
E in red 7 &la
[
g F © ®
e #-
O
= L] —
2 _ |
©
e f
MNia
[« 3 A
0|8 ‘
(s
oy =
. IHOEH 1ANYd XYW 0G4 - 5
= —_=
E R m A e MerALT4 1 A4 I.I_ m a
@ =z
S P .. - . %5
o'l F L.
5 J o 89
B in 3 82
4 ~ a Pl
2 i 8  ¥zy
< E e ZLS a oo
<A = e
2x 5 So
o 2 20
< > -0 g
o Q P
& <85
- O
T Oz
o o e»
“W &5
(O 223
w oz
o~ W
Q<
62
P | o
Hil o
Lo O

Z-1 'BMppT0Z SYXIL\MUaLnO\sBumeIa\BMAUSY Z/p - IAL\SU] O 1d50] 5exd [\MIN [eA0Y-{eDASIUBID\IEMUNSSZTOZ



\\2012ess\RWBC\Clients\Cal-Royal NEW\Texas Dept of Ins\TD! - 472 Renewal\Drawings\Current\TEXAS 2014.dwg, 1-3

EXTERIOR VIEW

“!

1-1/2" MIN.

v ?' v P .b v
> g
K . .
v s ¥ - v
D b ) . ..b . - . Y . > v v
v 14 : & b
B v DV » v 'D S
& :
3
L X
: k\ . //
SEE NOTE 2 M 8
INTERIOR VIEW
lb EXTERIOR / INTERIOR
i
/ 2"\ VERTICAL CROSS SECTION
w QOutswing configuration
NOTES:

1. Anchor strop (3/4" wide, 18 gauge sieel)
or Tube Anchor tack welded to frome
along each end.

2. Panic Bar set screws [#12-24 x 5/14")
must be activated to achieve impact
rafing. Locate one screw of fop
and bottorn at center of push rail
or locate one screw af each end of bar,

INTERIOR

SEENOTE 1 ; L

EMB. {TYP.)

=

@ /"1 "\ HORIZONTAL CROSS SECTION

\3/

EXTERIOR

i-1/4" MIN.
EMB. (TYP.}

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.650.9197

7“3\ VERTICAL CROSS SECTION
w Outswing configurotion

CAULK (TYP.)

f

/~ 4 \ HORIZONTAL CROSS SECTION

3 / 2X5tud Construction
Wood $tud Anchor

P.O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.

Documents Prepared By
(WF'hano No.!

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—~11852

o -}
S 3
Q [
[ oW
- Li=Z
ST >g
S5 28
O an
nlzg <K
m
= 27
=l Inl 7]
3313 28
.. =¥ RS
e | o
8 il %
[ w0 — I
e &%
o o
>_
m
8
=z
o
v
i
[
B
<
S
o
z
DATE: 10/1/14
SCALE: N.T.S.
DWG. Br: JK
CHK. BY; LFS
DRAWING NO.:
TX—4483

SHEET 3 ofF 7

© 2014 R.W. BUILDING CONBULTANTS INEC.



\\2012ess\RWBC\Clients\Cal-Royal NEWATexas Dept of Ins\TDI - 472 Renewal\Drawings\Currenf\TEXAS 2014.dwg, 1-4

Q

9.63"

l

25.25"

25.25"

Lf 25.25"

HINGE JAM

AR B oo | w— —
e u SEE DETAIL 2.
_t.' -1 (TYP.}
MAX D.P. <= B0 PS.F.
MAX D.P, <= 44 P S.F.
JAMBS
(TYP.)
SEE DETAIL 1 "
i\ G
u o
>
) 3
: | 3
. . - [ [
)
f o
3 —_
3 SILL o
| L Al L I 1 T
.o ._ Tt YA \ ! g rve)
L:‘» 8" MAX, O.C.
STRIKE JAM FRAME ANCHORING
Latch & Deadbolt
Masonry Construction
CONCRETE ANCHOR NOTES:

1. Substitufion of equal concrete screws from a different supplier may have different edge distance and

center distance requirements.

2. Concrete screw locafions af the cormers may be adjusted to maintoin the minimum edge distance to
mortar joints, If concrete screw locations noted as "MAX. ON CENTER" must be adjusted fo mainfain the
minimum edge distance to mortar joints, additional concrete screws may be required to ensure the
maximum on center dimension is not exceeded.

3-3/4"

3/8“

1y

2-1/8

41/

4. Embedment may be through 1-1/4" face shell of hollow block.

9.63"

i

Li 2525 ‘——L; 25.25" —~l~—~ 25.25"

) =3
[‘___J-J e...:'.'f-' ‘. | LI_‘J——_
_ o SEE DETAIL 3 - /(/ 1
/ g@ﬂ
e SEE DETAIL 27|
(TYP.)
J
MAXD.P. 70P.S.F. ©_
MAX DP. <= 44 P.SF. ? =
JAMBS 3
(TYP.) & I
o
=
— SILL :
e (TYP.) §
' == | T SeE DETAIL4 — T
A R T D \ :‘ = 6" (TYP)
8'MAX. O.C.
STRIKE JAM FRAME ANCHORING HINGE JAM

Panic Bar Exit Device w/ Verical Rods
Masonry Construction

kY

A\ Y

7.69"

P

Reof

\}\ \}\
DETAIL 1 DETAIL 2
Latch & Deadbolt Strike Plates Hinges

22

\ |

pon
=

=T

A\

DETAIL 3

Vertical Rod Latch Strike Plate

@ head

L1/

!Dd

¥/

DETAIL 4
Vertical Rod Latch Strike Plate
@ silt

ul
O
g 0
g8, f
£ 2 Yo
A ¢8B Ty
we Z ™~ E"-
.de -
[ -
5 §°q gz
E o 0 o0
ES X8 SE
) 5'0"’.
3.2 fE
. o=
& SR, &8
[+]
< exz ,F
z 9 w
£ Zaoe O
9 .c
a =g ©
£ Aas 3K
s g -
(=4
PR i
E o
3
[a]
o
3
o &)
Ny =
P [V
58 |, 2
o
2= |3 &
(TSI L7
@A =
I
[ LL::jj ) W
S IS
]
S e
& o
>
03]
v
=
-
4]
ol
e
o
s
o
o
=z
Date: 10/1/14
scAle:  N.T.S.
DWG, BY: JK
CHK. aY: LFS
DRAWING NO.:
TX—~4483

SHEET 4 oF 7

© 2014 R.W. BUILDING CONSULTANTS INC.



\\2012ess\RWBC\Clients\Cal-Royal NEWA\Texas Dept of Ins\TDI - 472 Renewal\Drawings\Current\TEXAS 2014.dwg, 1-5

2X FRAMING TO BE DESIGNED BY THE ENGINEER OR

ARCHITECT OF RECORD BASED ON WIND LOADS

AND THE CLADDING BEING USED.
v
22X FRAMENG—\
. ] R
[ ] DOOR FRAME \
h h
g -
W |
i Gb
HEAD & JAMBS
(TYP.) 5
E DETAIL 1
SE {2} PER STRAP
(EACH FACE) ‘
-\ i
P

§=x]
\

48.0"
40.31"

f:‘— 24"
;

JAMBS
(TYP.)

24

|
T

27

24

&
L
»
u
¥
P
a
&, -
-

STRIKE JAM

8"MAX. O.C.

FRAME ANCHORING

CONCRETE ANCHOR NOTES:

1. Substifution of equal concrete screws from a different supplier may have different edge distance and
center disfance requirements.

2. Cancrete screw locations at the corners may be adjusted fo maintain the minimum edge distance fo
mortar jaints. if concrete screw locations noted as "MAX. ON CENTER" must be adjusted to maintain the
minimum edge distance fo mortar joints, addifional concrete screws may be required fo ensure the
maximum on cenfer dimension is not exceeded.

3. Concrete anchor table:

e 1-1/4" 4 r

- TA

4. Embedment may be through 1-1/4" face shell of hollow block.

Latch & Deadbolt
2X Stud Construction
Strap Anchors

f

~a— 6" (TYP)

L

1

SEE DETAILQ// A )
(TYP.) 3
&
Fl—

&

i

&

o

HINGE JAM

@
W

7.69"

W\
¢

DETAIL |
Latch & Deadbolt Sirike Plates

M

. ~

LR B e,

R A P s
EURL WA

loa- 1-/}/

Lyndon F. Schrnidt, P.E.

TEXAS P.E. 104123

813.659.9197

N\

BUILDING CONSULTANTS, INC.
P.0. Box 230 Vairlco FL. 33585

Phone No.:

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION § F—11852

Ry

Documentas Prepared By:

CAL-ROYAL
STEEL COMMERCIAL DOOR
FRAME ANCHORING

PART OR ASSEMBLY:

PRODUCT:

REVISIONS

NOi DATE

oatE: 10/1/14

SCAlE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX~4483

SHEET 5 oF 7

© 2014 R.W. BUILDING CONSULTANTS ENC.



‘ON| BINYLINENDD SNIOINE "M'H FLOZ 5

ZGBLL—3 # NOLVMISIOZY JO ALvOLILN3D SININOGWO? SNOISIATY i
SMAINION “WNOISS240Hd 40 Gvol Sl Ny STVMAIVA 40 T1ig A8 A O« el m N
£816°6GE'E1R TON SuoUd . ) ©
cecot o g o \N\w@. TIBNISSY 90 19V S = LS
"ONI "SLNVLINSNOD ONIGING S 21 6_
HOOG TIQMINWOD T3S =l iglgle x
SZLv0LF Td SVAL WAOY-TD w3 lely|E ks
I'd HPIUYOS "4 UOPUAY kg pasndesd s3UeWINSOQ ‘Ionaoud HEIE L 5
- ..N.m
AU i SYE
~— .£0T s G — &y
. 2
| ! =
. o o 0 o) i
: O
5 3 @ C 1| 8
- o) o) 0 o £
b . o7 -
nﬁ n A B m:i
2 b53) AN
o] o w“n £
O|d
oo
| Z9 | ol
* ! -—mm-¢ _ — @

)

_1
0]4"4—- [

{

\

=
Kean) 3
I -
11O &
=
9 =
"3
| O Q
N 3l 08 - k&
- =0 w
| (- m L 1 114 % 3
[G] | 8]
- o
M ) m f @ AN i 111 L- vy m
ﬁ [ l— 561 —= &
- O
P » nl —.-H.-m
313
Faad Fant i . jc
w z C O & © .
—_ ~0 N Y _ . _ >
S 3 ¢ S ¢ ®
_ s
O | E S —
fM |l e ..Q.V.m P ——
, P 9 —my
® 3
o~ O
o
<
O (Y]
&=
5z
®
T‘|l’ __M .
80 —= _.Al
.:mo-o ——fl— | i

|
S B

= 1.94" —=

5||

Y

THRESHOLD

@ THRESHOLD

800

575"
FRAME
16 Ga. Steel

r

90—

—— |—v— 0.437
™~
o 1.54" —=

9-T ‘BMPPTOZ SYXALUBLINI\ASBUIMEIQ\|EMBUAY 7/ - IQINSU] JO 1d3Q 5EX8 fAMIN [BACY-1EDVSIUBEONDEMHE\SSIZTOZ



W\2012ess\RWBC\Clients\Cal-Royal NEW\Texas Dept of Ins\TDI - 472 Renewal\Drawings\Current\TEXAS 2014.dwg, 1-7

BILL OF MATERIALS

ITEM # | DESCRIPTION MATERIAL
E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE
301 OR HOLLOW BLOCK CONFORMING TO ASTM C%0

F 1/4" X 2-1/4" TW PFH CONCRETE SCREW STEEL
G | 3/8"X 2' PFH ITW DYNABOLT SLEEVE ANCHOR STEEL
H | 3/8"X2'PFH TAPPER CONCRETE SCREW BY POWERS FASTENERS STEEL
P #12 X 2-1/2" PFH WOOD SCREW STEEL
Q | WOOD STRAP ANCHOR STEEL

1 DOOR PANEL STEEL
2 | HOLLOW FRAME 2" STEEL
3 | BOTTOM CHANNEL STEEL
4 | FLUSH TOP CHANNEL STEEL
5 | LOCK BOX REINFORCEMENT STEEL
SA | LOCK BOX REINFORCEMENT STEEL
6 | DOOR CLOSER REINFORCEMENT {11 GA.) STEEL
7 | DOOR HINGE REINFORCEMENT STEEL
8 | WEATHERSTRIP - COMPRESSION BULB 1/4" X 1/2" [PEMKO 588) NEOPRENE
? 4-1/2" X 4-1/2" X 0.125" TEMPLATE HINGE STEEL
10 | #12-24 X 1/2" PFH MACHINE SCREW STEEL
11 | FRAME HINGE REINFORCEMENT STEEL
12 | #12-24 X 1" COMBINATION MACHINE / WOOD SCREW STEEL
13 | DEAD BOLT STRIKE STEEL
14 | ANSI LATCH STRIKE STEEL
15 | THRESHOLD {PEMKO #181_T) ALUM
16 | WEATHERSTRIP {THERMOSEAL™) NEOPRENE
17 1 UNIVERSAL WALL ANCHOR REINFORCEMENT STEEL
18 1 THRESHOLD (PEMKO 2001P) ALUM
19§ TUBE ANCHOR REINFORCEMENT STEEL
20 | CAL-ROYAL PIONEER SL/CSL SERIES GRADE 2 CYLINDRICAL LOCK -

21 | CAL-ROYAL T300 MAX. SECURITY HEAVY-DUTY DEAD BOLT GRADE 2 LOCK -

22 | #8-24 X 3/4" COMB. MACHINE / WOOD SCREW STEEL
23 | CAL-ROYAL 7700-V SERIES VERTICAL ROD EXIT DEVICE -

90 | VERTICAL ROD LATCH STRIKE PLATE @ HEAD STEEL
91 [ VERTICAL ROD LATCH STRIKE PLATE @ SILL STEEL

05 =g} [+
<+
T +
<+
B = |0
%
.¢.
g — +
M
i Vol B o
a fu‘;
b I
i S
f J 0.75" —fme—wrf
T
@ WOOD STRAP ANCHOR %
L
P 2)E
| I Tt
| | e
B 32
L
T

Lyndon F. Schmidt, P.E.
TEXAS P.E. §#104123

P.O. Box 230 Valrico FL. 33585

BUILDING COMSULTANTS, INC.
Phona Ne.: 813.6858.9197

Documente Prepared By:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F-11852

CAL—ROYAL
STEEL COMMERCIAL DOOR
BitL OF MATERIALS AND

PART OR ASSEMBLY:

PRODUCT:

COMPONENTS

BY

REVISIONS

. TUBE ANCHOR

NO.| DATE

oatE: 10/1/14

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX-4483

SHEET 7 OF 7

© 2014 R.W. BUILDING CONSULTANTS INC.



